RHEERA J—-01A ek s V-1230 1 B
s S 7 A — MXFOANOLDTH-T, EEEN
<Vrff§1>{KHK?@?{IXQ%EU%??EE " [ Domimo b o OREE ]
LS B OO E
oM e 1 R Hizk5) W t —
FEFE B E T o FEE B X m -—
M FaS 17| ey
Hom O E 4 A o M ATAME
H k3 i3 5y 5 * () 1
i H b JE (e e B 0. 50
- [ Qg :LEE§£¢%E§%L$¥% ] TR
& W i X %) FrA
Hi s % % B 1.0
| He i il bl S5 AT M
£ B Mo H W O f K B3 2.0
N —= X7 L —FnNbOD S H, m 10. 000
i LR H & W, N 37265
\ BBy (0.33 A O % & 130.33) B x 0.5
% HEEH O L NS REK I 1.0
Z&i K 1285 1 % AR 0.150 0k B, B4 Ky 0.15
WO R W e 0.075uk8,8, 1| K -

E L BREFIMORFHEBEHOFMIZEAMK T ENTE S,
2. uk: HIEBENLASAMZEESFRE : LouL 1 HIEE) = 1.0 95,




4
A\

V-1230

e

I|[X

o
&

I a v

EL +300 4

V

0058

000€

000€ 00S¢

T.L.

0061

8 — M24

900

I.D.

I.D. 900

1020

B.C.D.




EEEEE V-1230 3 B
HEIZLDE—A L FNORE  FREEE)
trvar (1) FEEAL . B
v arEm&: 10,000 —  7.000 m 7 varES: 3000 mm
(EL+ 10.300 —  7.300 m )
o3 AT far
AT £ #He (kg HE (N) FONE (mm)  ET— A2 F(Nemn)
1 fER (t9) ( 605 ) 5933 X 1500 = 8899500
2 PRIR ( 104 ) 1020 X 1500 = 1530000
3 F DAt ( 69 ) 677 X 1500 = 1015500
4 ( ) X -
5 ( ) X -
6 ( ) X -
7 ( ) X -
8 ( ) X -
9 ( ) X -
10 ( ) X =
(o AfrE /NG ( 778 ) 7630 -— 11445000
L E
1 Btk ( 310 ) 3040 X 3000 = 9120000
2 N-1(8B) / X)v ( 34 ) 333 X 2500 = 832500
3 N-3(2B) / A)v ( 6) 59 X 3000 = 177000
4 N-4(2B) / X)v ( 6) 59 X 3000 = 177000
5 N-5(3B) / A)v ( 9) 88 X 2000 = 176000
6 N-8(3/4B) / A v ( 2) 20 X 1850 = 37000
TVTT T ( 20 ) 196 X 3000 = 588000
8 PRI ( 12) 118 X 3000 = 354000
9 ( ) X -
10 ( ) X =
11 ( ) X =
12 ( ) X =
13 ( ) X =
14 ( ) X =
15 ( ) X =
(FEdmE /NED) ( 399 ) 3913 X 2929 = 11461500
A FFE & ( 1177 ) 11542 1985 22906500
(HEZR R0 0 O HfE)
fRLE=A7h Mel ( ) X =
(kg) () (kg) T4 )
Hi ARy (B 50AE)  ( 389 ) 3815 ( 389 ) 3815
HiRbLy ) ( 390 ) 3821 ( 9) 92
GEERRAE)
7 var (1) IZBI2EMIE AKvrs7varky ki 1985 |mm




ETEEE V-1230 4

HRRICE 2F—A 2 FORH  (FIEREE)

vrvar (2) BEWAL . =L
v varvEs: 7.000 —  4.000 m ' varEST 3000 mm
(EL+ 7.300 — 4.300m )
o3 AT far
AT pa #He (kg HE (N) FEONME (mm) FT— A2 FN-mn)
1 fER (t9) ( 605 ) 5933 X 1500 = 8899500
2 fRIE ( 104 ) 1020 X 1500 = 1530000
3 F DA ( 43) 422 X 1500 = 633000
4 ( ) X -
5 ( ) X -
6 ( ) X -
7 ( ) X -
8 ( ) X -
9 ( ) X -
10 ( ) X =
(o AfrE /NG ( 752 ) 7375 -— 11062500
L E
1 N-10(6B) / X /v ( 22 ) 216 X 2000 = 432000
2 ( ) X -
3 ( ) X -
4 ( ) X -
5 ( ) X -
6 ( ) X -
7 ( ) X -
8 ( ) X -
9 ( ) X -
10 ( ) X =
11 ( ) X =
12 ( ) X =
13 ( ) X =
14 ( ) X =
15 ( ) X =
(FEdmE /NED) ( 22 ) 216 X 2002 = 432000
A FFE & ( 774 ) 7590 1514 11494500
(HEZR R0 0 O HfE)
R DE=A/h Me2 ( ) X =
(kg) () (kg) T )
Him Bl sy (F5Am)  ( 376 ) 3687 ( 376 ) 3687
Ak ) ( 15) 144 ( 7) 72

GEdZARAE)
wrvar (1)~(2) LB ELEE  Avrvar kv bic [ 3608]m




EEEEE V-1230 5 K
HEIZLDE—A L FNORE  FREEE)
trvar (3) BEWAL . =L
v varES: 4,000 —  1.500 m ' arESr 2500 mm
(EL+ 4.300 — 1.800m )
o3 AT far
fi 4 HmaE (kg) e () FEONE (m) F— A2~ (Nemm)
1 ER (t9) ( 504 ) 4943 X 1250 = 6178750
2 PRIR ( 87 ) 853 X 1250 = 1066250
3 F DAt ( 82 ) 804 X 1250 = 1005000
4 ( ) X -
5 ( ) X -
6 ( ) X -
7 ( ) X -
8 ( ) X -
9 ( ) X -
10 ( ) X =
(o AfrE /NG ( 673 ) 6600 -— 8250000
L E
1 Btk ( 310 ) 3040 X 0 = 0
2 N-2(8B) / X)v ( 34) 333 X 500 = 166500
3 N-7(2B) / A)v ( 6) 59 X 0 = 0
4 M(20B) = > R — /L ( 330 ) 3236 X 500 = 1618000
5 AN HEA ( 2) 20 X 500 = 10000
6 PRI ( 12) 118 X 0 = 0
7 ( ) X -
8 ( ) X -
9 ( ) X =
10 ( ) X =
11 ( ) X =
12 ( ) X =
13 ( ) X =
14 ( ) X =
15 ( ) X =
(FEdmE /NED) ( 694 ) 6806 X 264 = 1794500
A FFE & ( 1367 ) 13406 749 10044500
(HEZR R0 0 O HfE)
R OE=A/h Me3 ( ) X =
(kg) () (kg) T4 )
Him Bl sy (F5Am)  ( 337) 3300 ( 337) 3300
Ak ) ( 73) 718 ( 621 ) 6088
GEELRAE)
v var (1)~(3) IZBT2HELMIE A7 arky ki 3900 {mm




EEEEE V-1230 6 B
HEIZLDE—A L FNORE  FREEE)
trvar (4) BUEEAL . A — b (IESICEEREET 5)
v varvEs: 1.500 —  0.000 m '/ varES: 1500 mm
(EL+ 1.800 —  0.300 m )
o3 AT far
AT va #He (kg HEE (N) FONE (mm) FT— A2 F(Nemm)
1 ZA4—F (t9) ( 303 ) 2971 X 750 = 2228250
2 ZDOfh ( 24 ) 235 X 750 = 176250
3 ( ) X -
4 ( ) X -
5 ( ) X -
6 ( ) X -
7 ( ) X -
8 ( ) X -
9 ( ) X -
10 ( ) X =
(BT AWE NED ( 327 ) 3207 -— 2404500
L E
1 N-6(3B) / A)v ( 9) 88 X 1000 = 88000
2 N-9(3/4B) 7 X)v ( 2) 20 X 1150 = 23000
3w oA ( 17) 167 X 500 = 83500
A4 Tz A ( 3) 29 X 500 = 14500
5 AH— h_2 b ( 4) 39 X 1350 = 52650
6 ( ) X -
7 ( ) X -
8 ( ) X -
9 ( ) X -
10 ( ) X =
11 ( ) X =
12 ( ) X =
13 ( ) X =
14 ( ) X =
15 ( ) X =
(FEHfmE /NED) ( 35) 343 X 762 = 261650
A Rt E & ( 362 ) 3550 751 2666150
R—2RT vy 120 1177
(K amrfls X v oo )
R OE—A/b Med ( ) X =
(kg) () (kg) T4 )
Hi ARy (B 50AE)  ( 164 ) 1603 ( 164 ) 1603
Ak ) ( 18) 174 ( 17) 169
GEELRAE)
v vay (1)~(4) IZBT2ELMIE AKvrvarky ki 4787 |mm
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8 H

5 T AR S DO R G2 B9 5 H v
(L X 1) KHKS 0861 &1y &= Ff ik

B[ A D — N HE, LR ECHSsN O b D]

2. IRERENT GREFREIKEHE T, HOREIST), FFEM T RO O E
vt s ¥ a v &K 5 1 2 3
REK B S 2 ST S EoET A boms [ H m 10. 300 7.300 4. 300
W OH o E 5 Poy | MPa 0. 500 0. 500 0. 500
R o E R R o &K JE N Po. | MPa 0. 000 0. 000 0. 000
B I S - R 5 °C 50 50 50
W & (BhLAZER) Di | mm 902 902 902
) W B (Bl A%EER) t mm 8 8 8
g WM M F 4 SBA10 SB410 SB410
F@ T X 2H B 0K S5 (3) (3) (3)
4| g% MoEE o 5l ik RS Su [ N/mm? 410 410 410
i | RO REIR SROLI0. 2% 7 Sy [ N/mm? 220.1 220. 1 220. 1
B M B o fE B M £R 3K E|N/mm’ 201000 201000 201000
el e M OB o o Bl OBE RS Suo | N/mm* 410 410 410
B B0 S5/ N AR A 10, 2% 77 Syo |N/mn? 225 225 225
M F o m B R n 0.95 0.95 0.95
MW RO 9D OTEA 0 1/2 0 ° 0 0 0
H=E160%6 B, = 2.0 2. 000 2. 000 2. 000
[ ;{5?;@?: 16<H=350#4 B ,=1.04+0. 06H| B4 — —_— _—
p” BJBp<HDYH By = 3. 14 — — —
REHRIACEEEE B K, (0.2% FEZ54130.2) | Ky 0. 300 0. 300 0. 300
fe| AR DL AR We | N 7635 7738 7777
Br| o e e T e W | N 11542 19133 32538
FEFER A HIEE S KWy Fgy | N 2291 2322 2333
SN E BT AEICIERT 52— A hofn GE3) | M| Nemm 6871758 20708113 38070997
i | AOFEJERE Ditt Dm | mm 910 910 910
D FAEFRIES (SIFT TR (@ICED) St £t |N/mm” 188. 1 188. 1 188. 1
2| Sy X3 Syo oARBIE Y [N/m?| 2201 220. 1 220. 1
J&| 0. 6Et/[ (1+0. 004E/Sy’ ) Dm] S |N/mm® 227.8 227.8 227.8
j,j FFRIEMEIS ) S SUX S DN B fe |N/mm’ 198. 1 198.1 198. 1
iF | O Dm/4t 28. 44 28. 44 28. 44
;’?S: Zii @ Wv/ 7 Dmt N/mm” 0. 50 0. 84 1. 42
HE] @ 4/ 7 Dt N/mm’ 1.32 3.98 7.32
%ﬁ 5138577 (D X Py=@+®) /cos 0 ot |N/mm? 15. 1 17. 4 20. 2
IO H E ot=ft N/mm®| 15.1=188.1 | 17.4=188.1 | 20.2=188.1
/ﬁ?i;g JERMEI T (D X Py +@+@) /cos 0 oc |N/mm? 1.9 4.9 8.8
O OE oc=fc N/mm?| 1.9=198.1 4.9=198. 1 8.8=198.1
# (a) S=198.1 N/mm?| S=198.1 N/mm?| S=198.1 N/mm’
X5y B O FRAA S(FiRo/heni® |  [HENX 7 HIZEA |2 7 BICL AL 7 HICkD
9 %iﬂﬁ%;ﬂ)%‘iﬁ?ji)ﬂﬂ‘éﬁjﬂ 0. 6Suo, 0.6Su
ANRATVASH Je OV = v 4 5 0.9Syo, Sy
3 L R R
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3. XFEEY (A —N) OREIGT, RIS OEOHE
v s v oa v E B 4 vt s va v EE /
A\ kR4 $S400 7?; i A B4 /
P
| [EPEr By 3) | [ /
R t1 | mm 9 _|m 5 2 | mm /
S ey Dl | mm 009 | ) Dn2 | mn /
EE B EHRE C 50 ;E &:ﬂﬁrgﬁ | C /
T | M B3] 9Rh S Sul [ N/mm® 400 g— fj_ " ;f;j)%‘;ﬁ“ﬁmi Sy2 | N/mn” /
| TRPPRRTE T sn w2007 || B [rmonomnemn | B2 [we| ]
I L e I e T P e e ) e
1 | g | PERHORUD S BEIRS | Suol | N/ 400 iﬁ gﬁf%ﬁﬁ Syo2 | N/mn? /
ﬁnfﬁ gfig?;%ﬁ“‘ﬁ Syol |N/mn? 245 :{ BB OATE AR AES | Y2 | mn /
% |MAmoATSREAES | Y1 | m 708.3 | [SPEWETOEESIEITS |y | Nemm /
IR ST [ N/mn? 216. 6
Xiﬁ Syl X IESyol /N3 B i Syl [ N/mn? 240.7
ﬁ”ﬁi 0.6E1-t1/[(1+0. 004E1/Sy1’ ) Dml1] ST [N/mm* 275. 1
OE% Syol X1Z0. TSuol /g % i F1 | N/mm? 245.0
%P;L TR EMEIS /1S1, ST UFF1D /M2 4l | fel |N/mm® 216.6
%z SR E A IS ) %1 | ocl |N/mm? 20. 1
% ;3 M E ocl = fel N/mm’ 20.1 = 216.6
P Syo2 3430, TSu020 /172 B i F2 [N/mn?
f‘:‘ﬁ Sy2 X (ZSyo2 D /N B il Sy2" |N/mm”
)j;jz% 0.6E2-t2/[ (1+0. 004E2/Sy2’ ) Dm2] S2" |N/mm”
gj% FFAERMRIS JIF23UES2 /N2 2 | fe2 [N/mm?
B 5| s %2 | 002 |N/m
Sl M E 02 £ fe2 N/mm®
LT 2 Hicka|@Ea: 7 Hicka|EN: 7 HICkD
% (a) AT 2 HiIcka|EsiE 7T Hicks|mel: 7 HICk?
X5 _ W@rwﬁﬁ | SCFFRD /N2 21l %1 ol [ WoLsFMY i ] L
2| s | ool st | %2 oca= [M_, s ] 1
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M o+ 5 XK ¥ ( v N 1) M AT — N THNY.OH D]
KHKS 0861 #f ) 55 & 3k - & E & ¥ ik
4. ZFESY (=27 L — b, EARL N OETERT, TSR OEOHE
GEE > i S SS400
MoBk o o B R A X 0.2 % i A Syo3 | N/mm? 245
RCRENCE W NG Su03 | N/mn’ 400
B3 ; P (PR (a) 2) L1 | mm 91
L i (P (a) 208) L2 | mm 80
]
| N £ d1 mm 740
NS do | mm 1100
B X t mm 16
% -
GE I i S SS400
5t MoBk o o B R A X 0.2 % i A Syo4 | N/mm? 235
1t E?f Mok o BBl RS Suod | N/mn’ 400
AR & N VN 8
Ma d | mn 20.752 (M 24)
R FoFLNGLRMOERGET 2 BIZXD) D mm 1020
e e T AR A= A bR M3 | Nemm 53513325
T BT DB o A B ENEWDOEE L OR
E G 1 ez i o We | N 37265
%ut EEE x (do*-d1?) /4 Ab | mm? 520247
o |} s o5 5 BiE R = (d0'-d1*) /320 Z | mm 103907662
ol % [REEH 151703 R0, TSu03 1 2 5 4 £b3 | N/mn? 245.0
fj‘ji UL EL2 o K 2 2 i L | mm 91.0
]
| (IS #%1 | ob3|N/mn? 57.0
Z;E HE ob3 = b3 N/mm” 57.0 = 245.0
rjg PAGELIT r d*/4 A | mm 338.2
R | (27551 3E55 /1Sy 04 XU0. TSuod /g 2 i £t4 | N/mm? 935. 0
N KD
) [V |FES RIS %2 | ot4|N/mm’ 63.8
E| HE otd = ft4 N/mm” 63.8 < 235.0
o Pyt BEEEICH-TH0OETH 2 L,
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A A P A
AH— N ETHEE S BEOBERE B |[was V-1230 12 B
JAE  ( JPI-TR-35-2013 )
1. JBUCHRET D HARGE R
PR X )y m JEL W Vo = 38 m/sec
b = 5 RO @ S (TLE T) tH1 = 10. 000 m
Zg = 450 m R~ FREETOES: 0,300 m
a = 0.2 MR HEEZ 5 O R EAL & & H2 = 10. 300 m
B #f B o HOH
vt 7 va v F F 1 2 3 4
MRy L DYEZ 5 D MR E D D E S 7 m 8.942 5. 800 3. 050 1. 050
Kt 7 va vo@Em & L mm 3284 3000 2500 1500
BEENE LI Di mm 900 900 900 900
i J& t mm 9 9 9 9
R R S t; mm 50 50 50 0
TR B S h 2Bz ) 8o HR B m 1.018 1.018 1.018 0.918
F hﬁﬁ?‘é*ﬁéﬁ@ D m 1.618 1.618 1.618 1.518
7 . H2 <7Zb D} 1.02 - - - -
Zb < H2 Z§Zb : (Zb/H2)2® kz — - - 0.7490 = 0.7490
¥ DA 7b<7 : (Z/H2)%" 0.9450  0.7948 - -
s - |H1/B| — ]9.8232 9.8232 | 9.8232 10.8932
% [H/s =1 oBs 0. Tkz
o 1< HI/B < 8 KioEa | ok Ce — 0. 851 0.715 0.674 0. 674
8 = HI/B O&H 0. 9kz
A % 1 OFE A m’ 5.314 4. 854 4. 045 2.277
2t |Emms o s i [ H2=72b OBE = 1.7(Ib/7) B _ -
Do % R HRIL Zb<H2 DL = 1.7M2/Z) " i 0. 7987
A EARE (FEREO)IZED) G — 2. 496
LR o 8 B Sy Aii 4% B = Er® - GF E — 1. 592
oW EOJE = 0.6E-V,’ N/m? 1379.5
v T g ENE = q-Cf-A Fw N 6234 4789 3761 2117
AEL R A B O F UKD > Fw N 6234 11024 14785 16902
K| M EICE D BERE — A SMw | N-m | 10236 36123 68383 92148
B B O R F ZFw = 16902 N
B K JE E—A2 b SMw = 92148 N-m
T 9 (1) HHEEWDIE A = D-L T
/caﬂ 210 D = 1.2xB X% (0.6+B) DWF KR E W5
k) § (2) 7b, 76, o OHFEHLE X 531205 U7 Ml
\§ § é?g%ﬁiﬁ Zb (m) Z¢ (m) a
&\& N I 5 250 0.10
= = 1l 5 350 0.15
il 5 450 0. 20
2| = 2 i 2 v 10 550 0.27
S ol (3) GFo>Hh i FHLEE K 4912 It U 7= fi
\071 *ﬁg‘%’zﬁﬂﬁ H2=10m |10m<H2<40m| 40m=H2
| 2.0 1.8
1 2.2 | HepilMik] 2.0
0 Jill 2.5 | L7=%fE| 2.1
- b 2 77~ v 3.1 2.3
N - (4) XMw= Mw(n—1)+XFw(n-1) -Ln+Fwn-Ln/2

(a) #h EIC

(b) 4% Lizit@ 5848




JPT-7R-35-2013 ’T‘%%%%%% : V-1230 13 E
2. MAOFEF (BUxd 2 D) (JEHR )
2.1 B G & 27+ a No. 1 2 3
HEHEIY OF S m 10. 300~7. 300| 7. 300~4. 300 | 4. 300~1. 800
fili A B4 SB410 SB410 SB410
A Ph MPa 0. 500 0. 500 0. 500
& K JE 7 P1 MPa 0. 000 0. 000 0. 000
% OEH IR C 50 50 50
I IS Di mm 900 900 900
it JE = t mm 9.0 9.0 9.0
& L A o mm 1.0 1.0 1.0
RS (JEE%) Dm mm 910. 0 910.0 910. 0
M SENR D5 0> 1/2TA £ degree 0 0 0
w ¥ % 0 0.95 0.95 0.95
E oL o W N 11542 19133 32538
B LB RKE—A b Mw N-m 10236 36123 68383
RLE—A 2 b Me N-m 0 0 0
s R GIRIS T Sca N/mm’ 103 103 103
i 5| iEIR X Sua N/mm’ 410 410 410
. REEAR A SV Sya N/mm’ 225 225 225
" METMELREL Ea N/mm? 203000 203000 203000
& R GIRIS T Sc N/mm’ 103 103 103
H 5| iEIR X Su N/mm? 410 410 410
i R LR A5 ST ) Sy N/mm’ 220. 1 220. 1 220. 1
B METMELREL E N/mm? 201000 201000 201000
2.2 RN
FIFEAR SRS FSt (N/mm?)
Ss = 0.6Sua or 0.6Su or 0.9Sya or 0.9Sy® &/ |MH 198. 1 198. 1 198. 1
FSt = Ss 188. 1 188. 1 188. 1
EHIFASIRIS S FLt (N/mn?)
SL = Sca or ScDi/ME 103.0 103.0 103.0
FLt = SL 97.8 97.8 97.8
AT AR A s 7 FSc (N/mm?) B’ =EaXJZE. Sy’ =SyaX|ESy
S’ = 0.6 E (t—a)/(1+0.004 XE /Sy’ )Dm 227.8 227.8 227.8
FSc = Ss or Ss’ D &/IME 198. 09 198. 09 198. 09
F MR ERE 7) FlLc (N/mn?) B’ =BaX3B. Sy =SyaXiSy
SL” = 0.3 E" (t-a)/(1+0. 004 XE" /Sy’ ) Dm 113.9 113.9 113.9
FLc = SL or SL” ®f&/IME 103.0 103.0 103.0
2.3 HMNEIYOHfE (N/mm)
e ) ah = Ph - Dm/4 113.8 113.8 113.8
AR 7 al=Pl-Dmn/4 0.0 0.0 0.0
pUEL rg=o-:x b = W/ = Dn 4.1 6.7 11.4
B RE-A/ ] ¢ = 4000Mw/ 7 Dm’ 15.8 55. 6 105. 2
fl LT b d = 4000Me/ 7 D’ 0.0 0.0 0.0
2.4 EAEBIELOEMEIS OB E &CHE (N/mm’)
mHsIES S 15.7 20. 4 26. 0
o t = (ah-btc+d)/(t-«) « (I/cosf) = Fst = 188.1 = 188.1 = 188.1
OK! OK! OK!
EWaEsa | 13.8 13.4 12.8
, < 97.8 < 97.8 < 97.8
ot = (ah-b+d)/(t—-a) « (1/cos ) = FLt OK] 0K 0K
EIEREG 2.5 7.8 14. 6
oc = (maltbtc+d)/(t—a) « (I/cosf) = FSc = 198.1 = 198.1 = 198.1
OK! OK! OK!
EWEMSA | 0.6 0.9 1.5
, < 103.0 < 103.0 < 103.0
oc = (-al+b+d)/(t—-a) * (1/cos0) = FLc OK | 0K OK |
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3. AJ— bORGE - WEMMA (BUZK 2 I8 G (EEHAR)
3.1 AHh — hOFFFHEM
27 2 a No. 4
MBI $S400
HmERMEIY OEHS m 1.800 ~ 0.300
BEARITNS C 50
A Jy— MEEEE (FR%) Dm mm 909. 0
A F7— B A ObE Y mm 708.3
AT — MRE ts mm 9.0
M8 A — FD1/218 degree 0
A W N 36088
JFUZ KD HRRE— AL B Mw Nem 92148
ROE—A L b Me Nem 0
B LA 1% mm 0.0
R
PP GRS T) Sca N/mm? 100
5lRIR X Sua N/mm? 400
NSO T Sya N/mm’ 245
MERRME LRI Ea N/mm” 203000
R OE IR
PP GRS ) Sc N/mm” 100
5lRIR X Su N/mm” 400
NSO T Sy N/mm’ 240. 7
MERRME LRI E N/mm’ 201000
3.2 FFRIST
(1) FEHFFRTEMES S o fel (N/mm?) E'=EaX|%E. Sy =SyaXiiSy
Ss = 0.6Sua or 0.6Su or 0.9Sya or 0.9Sy ODix/IME 216.6
S’ = 0.6 B+ (ts—a)/(140.004 + E’ /Sy’ ) Dm 275. 1
fcl = Ss or Ss’ D f/IME 216. 6
(2) RHIFFREMEICS © fel’ (N/mm?) E'=EaX|%E. Sy =SyaXiiSy
SL = Sca or ScD#x/IME 100. 0
SL” = 0.3 E" « (ts—a)/(1+0.004 « B’ /Sy’ )Dm 137.5
fel’ = SL or SL’ D /Ml 100.0
3.3 AN—FOHEIYY fifE (N/mm)

TR B b = W/ (xDm-Y) 16.9
BRE—AL B ¢ = 4000Mw/ ( 7z Dm*~2Dm-Y) 281.8
ROE—A L b d = 4000Me/ ( 7z Dm*~2Dm-Y) 0.0

3.4 A — FOBEEEMICOFEELHE  N/md)
EERIS )|
ocl = (btc+d)/(ts—a) * (1/cosO) = fcl 33.2 = 216.6
OK!
BRI |
1.9 < 100.0

ocl’” = (btd)/(ts—a) = (1/cosh) = fcl’

OK!
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5. HEBARANLFEKOR—ZATF L — FOFE

(B9~ 2 IS F1HaT)

i

5.1 axatsett CEARE) 273 No. 4
EinEE  [EMEEGEL) 1| W [s] N 37265 [34117]
IS LD RE—A B Mw Nem 92148
fRbyE— XA b Me N-m 0
5,2 XN—Z2 7L — h
MR $S400
NR—2 7L — MR DBo mm 1100
NR—2 7L — PN DBi mm 740
NR—=2F L — M XIS DK E VIE L mm 91
R—27F L — MiE tp mm 16
@i LA o mm 0.0
BoEAR AR SV 7 Syp N/mm’ 245
51 RIR S Sup N/mm’ 400
W T i A mm’ 520247
Wr it R 2K v/ mm’ 103907662
5.2.1 X—XT7'L— FOFFRMIFIES  fp (N/mm?)
fp = Syp or 0. 7Sup® fx/MH 245
a7 Y — MNP /= 2/3XFe fcon N/mm? 14. 00
a7 Y — MEFIRT 1 N/mm’ 1. 400
ZZT, 287 Y — ki) Fe =21 N/mm2 &3 5%,
5.2.2 X=X 7L — FO#ITIG I OREE L HIE (N/mm?)
JEAEIES T |
B=1000 (Mw+Me) / Z +W /A = fcon 0. 960[(' = 14.00
BRI
op = 3L%B / tp® = fp 93. gK, = 24
5.3 JLEEAR L b
FERER v SRR SS400
FERER LV R ARSL N - 8
AV R — 7 PR Db mm 1020
AR gt d mm (M24) 20. 752 (dB = ¢24)
AV bW wi R Ab mm’ 338.2
51 RIR S Sub N/mm’ 400
B AR A ST ) Syb N/mm’ 235
5.3.1 JEEEAR L M OFFERESIRISS ¢ fb (N/mm?)
fb = Syb or 0.7Sub D/ M | 235
5.3.2 AN b OBIRIESIORE EHE : oB (N/mm?)
R R Bl E |
1 4000 (Mw+Me)  [Ws] [40906. 3]
F=— - W) 40512. 7 (N)
N Db
[121.0]
oB = F/Ab = fb 119. 8 < 235
OK!
5.3.3 AL FOMWDIARESOFEELHE LB (mm)
[387.6]
IB=F/ (u-n-dB) 383.8 < 570
0K !

1), fEftEE(ZEEE) = 34117 N




